
HỌC TẬP  - LỚP 2 –  TOÁN LỚP 2 

Giải bài tập 55 - 8; 56 - 7; 37 - 8; 68 - 9 trang 66 SGK Toán 2 

Câu 1. Tính: 

 
Đáp án 

 

Câu 2. Tìm x: 

a) x + 9 = 27;                  b) 7 + x = 35;                    c) x + 8 = 46 

Đáp án 

a) x + 9 = 27;                      b) 7 + x = 35;                        

    x       = 27 - 9                             x = 35 - 7                       

    x       = 18                                  x = 28                             
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c) x + 8 = 46 

   x        = 46 - 8 

   x        = 38 
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